normalized X?

[ normalized x? probability |

chiz chiz_prob
1o ] B o er e e T
Std Dev 1.108 : Std Dev 0.3219
N —ra 0.05 . PR
2 + [ Entries 93917 : . Entries 93917
10 Mean 1.083 . 0.5316
Std Dev 1.102 0321
. 0.04 -
0.03
0.02
i
0.01 %,
o160 + o+ . :
g i 35 i A o e
& S 1111 ) st ) R
UTnre e Rt R
Ot A A L
oonn aE Rt |
. . . . . . . . d v ! . . . .
o 0 2 4 6 8 10 12 14 16 18 20 0 0 010203040506070809 1
x? Prob(x?)
A2 = b5
5 L . >
c r H A
(;( 1.8 ‘ H H o 4
v —
b o R R e o
o 3

* | === DQM_v0001_R000000001__Global_i

— DQM V0001_R000000001__Global

mkFit_lkstable

__mkFit_CAND1kstable

H

o R T e T T
f+
o.s+ --------------------------------------
06-_ 1 1 1 1 1
& ||||.u| il
]I|[nl I |ITITI|[III]T[I|I|1I|III|II||I|
B R I
n
g 1
“\>/< 6
;%
o5 i i
g Y
ooolL LU AN :
10" 1 10 10? p103

Ratio

< X2/ ndf >

Ratio

1

o

0 1 2 3
TP n (PCA to beamline)

1072

-1
AR(track, jeltS)



	Contents
	Page 1


